Mmmm [MSB] £E$)l /Eﬂ@l:rj(%ﬁST[swm (EI"T?I’:;:SEEBIUU@ BBk =382&10&15

[ASA] BEE =1/899 FEZ =100.0%ST=10) THHR=5T = /30 H BBk =382810&10
WiE R R -l [ASB] FEZ =1/59.9 FEZ =1000%(ST=15) EHKR=STS /15/60 @ EEk=3842&10&10

W AT 88

BRI - BTF = — il

W50 FEH---HY
[ASA] HIEL

| VTR

WRE--- AT

[MAX HE]
[MSB] (15 {&@ /9C)
+ 8R---1,008 {&
“16R:-+2,016 &

[ASA] (10 {& /8C)

- 5R--- 360 1@ ral
- TR--- 504 {& / e
16R++1,152 {8 I 0® ©° |
[ASB] (10 {& /7C) |
(£ )5R 315 @
. 15R"-+945 {A

WiEHEOH4ER
CARA=THE >
g -y <
[SZEES—V) H\)

<SEBREE#H= &H E>

&R, [EARER] 2BoEd, [EHBEA] Tofdi iz Ed, Presented by TKC (HRBESfE =&« 7« axsiarX)




